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Chapter 9
A Second Look at Classes and Objects

( Test 2

1.
True/False A class’s static methods do not operate on the fields that belong to any instance of the class.

Answer:
True, Static Class Members

2.
When a field is declared static, there will be

(a)
A copy of the field in each class object

(b)
Only one copy of the field in memory

(c)
A copy of the field for each static method in the class

(d)
Only two copies of the field in memory

Answer:
B, Static Class Members

3.
Which of the following is not true about static methods?

(a)
It is necessary for an instance of the class to be created to execute the method.

(b)
They are created by placing the key word static after the access specifier in the method header.

(c)
They are called directly from the class.

(d)
They are often used to create utility classes that perform operations on data, but have no need to collect and store data.

Answer:
A, Static Class Members

4.
The only limitation that static methods have is

(a)
They can refer to only non-static members of the class

(b)
They can only be called from static members of the class

(c)
They must be declared as public methods

(d)
They cannot refer to non-static members of the class

Answer:
D, Static Class Members

5.
If you have defined class SavingsAccount, public static method getNumberOfAccounts(), and SavingsAccount object account20, which of the following will call getNumberOfAccounts()?

(a)
getNumberOfAccounts();

(b)
SavingsAccount.getNumberOfAccounts();

(c)
account20.getNumberOfAccounts();

(d)
None of the above, you cannot call a static method.

Answer:
B, Static Class Members


Use the following to answer Questions 6–8

NOTE: These questions will require applying several sections of the chapter.

public class Orders

{

public static int numberOfOrders  0;

public static double ordersTotal  0.0;

private int orderNumber;

private String company;

private double totalOrder;

public Orders()

{

orderNumber  0;

company  “ ”;

totalOrder  0.0;

numberOfOrders;

}

public Orders(int x, String y, double z)

{

orderNumber  x;

company  y;

totalOrder  z;

numberOfOrders;

ordersTotal  totalOrder;

}

public Orders(int x)

{

Orders();

this.orderNumber  x;

numberOfOrders;

}

public setCompany(String c)

{

company  c;

}

public setTotalOrder(double x)

{

totalOrder  x;

ordersTotal  totalOrder;

}

public setOrderNumber(int ord)

{

orderNumber  ord;

}

public static void incrementNumberOfOrders()

{

Orders.numberOfOrders;

}

public static void incrementTotalOrders(double x)

{

Orders.ordersTotal  x;

totalOrder  x;

}

public static void main(String[] args)

{

Orders ord1  new Orders();

Orders ord2  new Orders(123, “ABC”, 324.50);

Orders ord3  new Orders(456);

Orders ord4;

Orders ord5  new Orders();

ord3.setCompany(“DEF”);

ord3.setTotalOrder(798.75);

ord1.setTotalOrder(493.25);

ord4  ord2;

}

6.
What will be the value in numberOfOrders after the above code is executed?

(a)
2

(b)
3

(c)
4

(d)
5

Answer:
C, Static Class Members

7.
What will be the value of ordersTotal after the code is executed?

(a)
324.50

(b)
798.75

(c)
493.25

(d)
1616.50

Answer:
D, Static Class Members

8.
What is wrong with the incrementNumberOfOrders() method?

(a)
The method is correct—there are no errors.

(b)
The method references a non-static data member.

(c)
The method references a static data member.

(d)
The method references a public data member.

Answer:
A, Static Class Members

9.
True/False When an object is passed to a method, the method may change the values in the object.

Answer:
True, Passing Objects as Arguments to Methods

10.
What will be returned from a method, if the following is the method header:

public Rectangle getRectangle()

(a)
An object in the class Rectangle

(b)
The address of an object in the class Rectangle

(c)
The values stored in the data members of the rectangle object the method changed

(d)
A graph of a rectangle

Answer:
B, Returning Objects from Methods

11.
If the following is from the method section of a UML diagram, which of the following statements is true?

 add(object2:FeetInches):FeetInches

(a)
This is a private method called add that accepts and returns objects in the FeetInches class

(b)
This is a private method called FeetInches that adds two objects

(c)
This is a public method called add that accepts and returns references to objects in the FeetInches class

(d)
This is a public method called FeetInches that adds two objects

Answer:
C, The toString Method, the equals Method, and Same Class Operations

12.
True/False If you write a toString method for a class, Java will automatically call the method any time you concatenate an object of the class with a string.

Answer:
True, The toString Method

13.
To compare two objects in a class,

(a)
Use the , e.g. object1  object2

(b)
Write a method to do a byte-by-byte compare of the two objects

(c)
Write an equals method that will make a field by field compare of the two objects

(d)
Since objects consist of several fields, you cannot compare them

Answer:
C, Writing an equals Method

14.
To copy an object to another object in the same class

(a)
Use the assignment statement, e.g. object1  object2

(b)
Write a copy method that will make a field by field assignment of the two objects

(c)
Since objects consist of several fields, you cannot copy them

(d)
Write a method to do a byte-by-byte assignment of the two objects

Answer:
B, Methods that Copy Objects

15.
To make a deep copy of object1 as object2,

(a)
Use the assignment statement, object1  object2

(b)
Write a copy method that passes the arguments of object1 to the constructor for object2

(c)
Write a copy method that will assign each field in object1 to corresponding fields in object2

(d)
Write a copy method that will do a byte-by-byte copy of object1 to object2

Answer:
B, Aggregation

16.
The whole-part relationship created by object aggregation is more often called

(a)
A has a relationship

(b)
An inner class relationship

(c)
An extra class relationship

(d)
An inside class relationship

Answer:
A, Aggregation


Use the following code for questions 17–20

public class StoreCustomer

{

private String name;

private String accountNumber;

private CustomerSales sales;

public StoreCustomer(String n, String a, CustomerSales s)

{

name  n;

accountNumber  a;

sales  s;

}

public StoreCustomer()

{

name  “ ”;

accountNumber  “ ”;

sales  “ ”;

}

public int getLength()

{

return name.length  accountNumber.length  sales.length;

}

public String getName()

{

return name;

}

public CustomerSales getSales()

{

return sales;

}

public static void main(String[] args)

{

StoreCustomer cust;

int len;

len  cust.getLength();

cust  new StoreCustomer();

CustomerSales cs  new CustomerSales(“11/11/2003”,“45321”, 563.78);

StoreCustomer cust1  new StoreCustomer(“ABC”, “A510”, cs);

CustomerSales cs1  cust1.getSales();

String str;

str  cust1.getName();

str  “DEF”;

}

17.
What will happen when the statement len  cust.getLength() is executed?

(a)
The variable len will contain the length of the cust object

(b)
The variable len will reference the object cust

(c)
The variable len will be set to zero, since the object cust has not been initialized

(d)
The program will crash because the fields of cust do not reference String objects at this time

Answer:
D, Aggregation

18.
What is a problem with the method getSales()?

(a)
There is no problem with the method

(b)
It returns private values

(c)
It returns a reference to private data members

(d)
The variable len will be set to zero, since the object cust has not been initialized

Answer:
C, Aggregation

19.
What is a problem with the method getName()?

(a)
There is no problem with the method

(b)
It returns private values

(c)
It returns a reference to private data members

(d)
The variable len will be set to zero, since the object cust has not been initialized

Answer:
A, Aggregation

20.
What will be the value of cust1.name after the statement str  “DEF” is executed?

(a)
ABC

(b)
DEF

(c)
A reference to a string containing “ABC”

(d)
A reference to a string containing “DEF”

Answer:
D, Aggregation

21.
True/False The key word this is the name of a reference variable that an object can use to refer to itself.

Answer:
True, The This Reference Variable

22.
When the this variable is used as a constructor call,

(a)
It must be the first statement in the constructor making the call

(b)
It must be the last statement in the constructor making the call

(c)
It can be anywhere in the constructor making the call

(d)
You cannot use the this variable in a constructor call

Answer:
A, The This Reference Variable

23.
You can use the enum key word to

(a)
Create your own data type

(b)
Specify the values that belong to that type

(c)
Both (a) and (b)

(d)
Neither (a) or (b)

Answer:
C, Enumerated Types

24.
You may use ____ to compare two enum data values

(a)
Only , >, <

(b)
The equals and compareTo methods that automatically come with the enum data type

(c)
The moreThan, lessThan, equalsTo methods that automatically come with the enum data type

(d)
The ordinal() method that automatically comes with the enum constants

Answer:
B, Enumerated Types

25.
True/False If a class has a method named finalize, it is called automatically just before an instance of the class is destroyed by the garbage collector.

Answer:
True, Garbage Collection

















































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































